Supporting the very able child

RESOURCES

Resource 12: Bloom’s six levels — example 2

(Taken from Enrichment Activities for More Able Children , by David George)

Selving a problem like the greenhouse
effect can seem so difficult that it is easier
naot to bother at all. But, by breaking the
problem down into simple stages, it
becomes possible to come up with

CLIMBING LADDERS

The example shawn in the iliustration
below is one way of tackling the
greenhouse effect. Make sure you complete
each stage before going on to tha next one,
You may need to consult textbooks,
newspapers and magazines 1o help you.
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Did you find this way of tackling the ]
problem helpful? Sometimes this method is
called ‘laddering’. Why do you think this is{

What other subjects could you use this
‘laddering’ technique fori
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